Exam 4
1.
Which of the following is true for ACTH?


A.  it is formed from cholesterol


B.  is the major mineralocorticoid


C.  it has glucocorticoid activity

      
D.  all of the above

         *
E.  none of the above

2.
Which of the following has the greatest affect on glucocorticoid activity in the body?


A.  insulin


B.  glucagon

      *
C.  cortisol


D.  aldosterone


E.  testosterone

3.
Which of the following is the major regulator of the rate of cortisol secretion?


A.  potassium


B.  angiotensin II

     *
C.  cortisol

  
D.  sodium


E.  ionized calcium

4.
If both adrenal glands of a person are severely damaged by disease, which of the following hormones will increase in the blood?


A.  aldosterone

        *
B.  ACTH


C.  corticosterone


D.  cortisol


E.  all of the above

5.
Which of the following is not a result of excessive aldosterone secretion?


A.  Na retention, but only for a period of time


B.  K excretion


C.  blood pressure elevation

      *
D.  production of adrenal androgens


E.  weight gain
6.
Problems concentrating, overeating, smoking, and disorganization would be considered what type of  response to stress? 

A. emotional 

          *
B. behavioral 

C. physiological 

D.  social

E.  personal

7. 
What is the primary physiological stimulator of CRH?


A.  plasma osmolarity

        *
B.  low cortisol


C.  ACTH


D.  aldosterone


E.  MSH

8. 
During the fasting state, which one of the following is an action of cortisol to promote hepatic gluconeogenesis?

         *
A.  increase breakdown of muscle protein


B.  decreased release of glycerol from adipose tissue


C.  suppression of gluconeogenic enzymes in other tissues


D.  increase hepatic production of beta-hydroxybutyrate


E.  decrease hepatic production of beta-hydroxybutyrate

9.
Which of the following is NOT linked to an increase in cortisol release?


A.  increase in sensitivity to norepinephrine in the vascular smooth muscle


B.  increase in aldosterone secretion

    *
C.  an increase in vascular permeability


D.  truncal obesity


E.  decreased immune activity

10. 
What part of the adrenal gland produces the majority of the glucocorticoids?

A.  medulla

B.  zona glomerulosa

      *
C.  zona fasciculata

         
D.  zona reticularis

E.  zona interna

11. 
Where are the majority of adrenal steroids degraded?


A.  GI tract

       *
B.  liver


C.  kidney


D.  pancreas


E.  muscle tissue

12.
What is the major function of aldosterone?


A.  water balance


B.  regulation of the fluid volume


C.  blood pressure control

        *
D.  absorption of Na+ and excretion of K+


E.  urine production

13.
Which of the following is associated with increased cortisol activity?


A.  decreased gluconeogenesis


B.  increased glucose utilization


C.  increased protein synthesis

        *
D.  elevated blood glucose levels

       
E.  decreased plasma proteins

14.
Cortisol stimulates which of the following to cause prevention of inflammation?

          
A.  destabilization of the lysosomal membranes

          *
B.  decreased capillary permeability


C.  increased WBC migration and phagocytosis


D.  elevated lymphocyte production


E.  elevation of fever
15.
Which of the following is true for the endocrine component of a stress response?
 
A.  effective only in the acute phase

            
B.  activated by aldosterone

          *
C.  involves the HPA axis

           
D.  includes the mass sympathetic response

E.  involves the adrenal medulla
16.
Which of the following is not a direct part of the HPA axis?

   *
A.  aldosterone

            
B.  CRH

            
C.  ACTH

            
D. Cortisol

E.  adrenal cortex
17.
Which of the following is not enhanced by the hypothalamus-pituitary-cortisol axis response to stress?
A.  gluconeogenesis

B.  lipolysis

        
C.  cardiovascular and respiratory function
       *
D.  feeding and growth

E.  sodium reabsorption

18.         Which of the following is not related to chronic stress?

      
A. decrease in muscle mass

      
B.  decrease in calcium absorption in the gut and decreased osteoblast function

         *
C.  decrease blood glucose levels

D.  decreased fibroblast activity
E.  elevated blood lipids
19. 
What is the result of a decrease in interleukin 1, 2 & 6 and tumor necrosis factor as a result of chronic stress?
            
A.  cause capillary fragility

            
B.  decrease inflammation

            *C.  decrease the immune response

      
     D.  increase gastric motility


E.  increased antibody production

20.  
If a person looses innervation to their adrenal glands but has an intact nervous system, what hormones will rise quickly in their plasma when they are under stress?

 
A.  ACTH, cortisol, epinephrine


B.  ACTH, epinephrine

      *
C.  ACTH, cortisol


D.  ACTH, TSH


E.  ACTH
21. 
Which of the following is necessary for the rate of cortisol to increase upon exposure to stress?


A.  increased use of cortisol by peripheral tissues, leading to decreased plasma cortisol 

                    concentration


B.  increased impulses in nerve fibers from the median eminence of the hypothalamus to 
                    corticotrophin cells in the anterior pituitary


C.  increased impulses in nerve fibers from the hypothalamus to the adrenal

       *
D.  increased release of corticotrophin-releasing hormone (CRH) from the hypothalamus


E.  none of the above

22. 
What is the primary physiological stimulator of ACTH?


A.  plasma osmolarity

        
B.  stress


C.  increased ACTH

        *
D.  CRH


E.  elevated plasma cortisol

23.
Which of the following can be measured to assess the response of the body to acute stress?


A.  albumin


B.  urine output

        *
C.  C-reactive protein


D.  plasma cholesterol levels


E.   skin temperature

24.
Which of the following is inhibited by the acute stress response?


A.  energy mobilization to vital organs


B.  awareness of pain


C.  mental awareness


D.  heart rate

         *
E.  visceral function

25.
Which of the following immune activities is enhanced with acute stress?


A.  production of interleukin– 1


B.  production of interleukin– 2


C.  tumor necrosis factor


D.  antibody production

       *
E.  none of the above

26.
Which of the following is not elevated with the fight or flight response to stress? 


A.  MAP


B.  blood flow to muscles


C.  glycolysis

       *
D.  glucagon


E.  muscle strength

27.
Which of the following behaviors is not associated with stress?


A.  frequent urination


B.  forgetfulness


C.  problems concentrating


D.  daydreaming

      *
E.  social drinking (not to excess)

28.
Chronic stress may be defined as a chronic activation of which of the following?


A.  parasympathetic nervous system

       *
B.  sympathetic nervous system


C.  central nervous system


D.  enteric nervous system


E.  all anterior pituitary hormones

29.
Which of the following is not a result of the chronic stress syndrome?

A.  osteoporosis

       *
B.  increase in lean body mass

C.  decrease in wound healing

D.  thin fragile skin and thin fragile capillaries

E.  decreased immune activity

30.
Which of the following would NOT be selected to help a person overcome the conditions associated with chronic stress?

A.  modify the stress

B.  develop a social support system

       *
C.  use steroid therapy

D.  use exercise and relaxation techniques

E.  seek professional help
31.
Which of the following situations will result in the stimulation of glucagon secretion?


A.  decreased plasma amino acid concentration


B.  increased somatostatin secretion within the islets of Langerhans


C.  increased plasma glucose, especially above 70 mg/dl


D.  decreased plasma insulin when peripheral insulin resistance occurs

    *
E.  high levels of plasma insulin in the absence of insulin resistance

32.
As plasma glucose concentrations fall from normal toward those that could produce a coma, which of the following would not be considered beneficial?

      *
A.  decreased cognitive function


B.  decreased insulin secretion


C.  increased epinephrine secretion (sympathetic nervous system activation)


D.  increased glucagon secretion


E.  increased GH, ACTH, and cortisol secretion

33.
Which of the following is not an important action of insulin?


A.  increased synthesis of lipoprotein lipase in the plasma

     *
B.  stimulation of intestinal glucose absorption


C.  increased synthesis of glycogen


D.  inhibition of hormone-sensitive lipase, reducing triacylglycerol breakdown


E.  increased synthesis of muscle protein

34.
In a patient with untreated diabetic ketoacidosis, which of the following would decrease in the urine?


A.  glucose


B.  keto-acids


C.  NH4+
       *
D.  bicarbonate


E.  titratable acids

35.
What is the main mechanism by which glucagon increases blood glucose concentration?


A.  inhibition of insulin secretion


B.  enhances muscle protein degradation


C.  stimulates glycogen synthetase in the liver

         *
D.  stimulates hepatic glycogenolysis and gluconeogenesis


E.  stimulates lipolysis in adipose tissue

36.
An absolute or relative increase in which of the following hormones contributes to the 


hyperglycemia of diabetes?


A.  cortisol


B.  glucagon


C.  epinephrine

       *
D.  All of the above are correct.


E.  Only A and C are correct

37.
Which of the following is an effect of insulin on the liver?

A.  increased liver phosphorylase

B.  decreased liver uptake of glucose

        * 
C.  increased storage of glucose

D.  decreased enzymes for glycogen synthesis

E.  decreased glucokinase activity

38.   
Which of the following is (are) true regarding insulin?

A.  large protein

B.  degraded by the spleen

C.  binds with nuclear receptor

         *
D.  2 amino acid chains connected by disulfide bonds

E.  all of the above are true

39.  
Which of the following is the most important regulator of insulin and glucagon?

A.  type of food ingested

B.  exercise

        * 
C.  blood glucose levels

D.  fatty acids


E.  neuron stimulation

40.  
Which of the following is true of somatostatin?

A.  produced by gamma cells

        *
B.  stimulated by food ingestion

C.  enhances secretion of insulin

D.  enhances secretion of glucagon

E.  increases GI tract absorption

41. 
Which of the following elevates blood glucose, reduces inflammation, and enhances 
gluconeogenesis?


A.  glucose


B.  insulin


C.  glucagon

           *
D.  cortisol


E.  GH

42.
Which of the following elevates blood glucose, enhances gluconeogenesis, and is inhibited by 
somatostatin?


A.  glucose


B.  insulin

           *
C.  glucagon


D.  cortisol


E.  GH

43.
Which of the following is true of insulin?


A.  isolated by Bunting and Best


B.  3 AA chains held by disulfide linkages


C.  large protein

      *
D.  degraded by the liver and kidney


E.  ½  life of 6 hours

44.
Which of the following is the greater stimulus for insulin release?


A.  exercise


B.  low blood glucose levels

       *
C.  ingestion of carbohydrates


D.  rest


E.  stress

45.
Which of the following is an effect of glucagon on glucose metabolism?

         *
A.  enhances glycogenolysis


B.  decreases gluconeogenesis


C.  enhances triglyceride storage


D.  decreases the strength of the heart


E.  enhances gastric acid secretion 

46.
In males, which of the following is not stimulated by testosterone?


A.  pubertal growth of the penis

       *
B.  gynomastia


C.  lowering of pitch of the voice


D.  hair growth on chest and face


E.  hair growth along linea alba

47.  
Which of the following is involved with penile erection?


A.  penile blood flow increases about 25-fold


B.  parasympathetic input to penile arterioles causes them to relax


C.  sympathetic input to penile arterioles is blocked by stimulation of an inhibitory interneuron


D.  some appropriate stimulus (tactile, visual, or psychological) reaches the erection center in the 
                    lower spinal cord

       *
E.  all of the above

48.
In males, which of the following is directly inhibited by inhibin?


A.  libido, by directly inhibiting adrenal androgen secretion


B.  testosterone synthesis, by a direct action on Leydig cells

        *
C.  FSH secretion and, hence, spermatogenesis


D.  LH secretion and, hence, testosterone secretion


E.  all of the above

49.
Which of the following is not a function of the Sertoli cells?

      *
A.  synthesize testosterone when stimulated by LH


B.  nourish developing spermatozoa


C.  synthesize androgen binding protein (ABP)


D.  provide the physical "blood-testis barrier" at their tight junctions


E.  produce fluid that pushes mature sperm toward the epididymis

50. 
In which of the following does spermatogenesis occur?

A.  vas deferens

B.  ampulla of vas deferens

C.  seminal vesicle

D.  ejaculatory duct

       *
E.  seminiferous tubules

51.
Which of the following is the correct order of spermatogenesis?

A.  spermatogonium, spermatozoon, primary spermatocyte, secondary spermatocyte, spermatid

B.  sperm, primary spermatocyte, secondary spermatocyte, spermatozoon, spermatogonium

C.  primary spermatocyte, secondary spermatocyte, spermatogonium, spermatid, spermatozoon

         *
D.  spermatogonium, primary spermatocyte, secondary spermatocyte, spermatid, spermatozoon

E.  Spermatogonium, secondary spermatocyte, primary spermatocyte, spermatid, spermatozoon

52.
Which of the following hormones is secreted by the Sertoli cells?

A.  testosterone

B.  LH

C.  FSH

       *
D.  inhibin

E.  growth hormone

53.
Which of the following is a gonadotropic hormone?

A.  testosterone

B.  dihydrotestosterone

      * 
C.  FSH

D.  inhibin

E.  estrogen

54.
In what part of the sperm would proteolytic enzymes play a role in helping the sperm penetrate the ovum?

A.  tail

B.  head

C.  mid-piece

D.  flagellum

       *
E.  acrosome

55.   
Why are human testes located in an external sac rather than in the abdominal cavity?


A.  to shorten the distance which semen must travel during ejaculation


B.  to shorten the distance which sperm must swim during insemination


C.  so the testes can be kept at a constant temperature

           *
D.  so the testes can be kept cooler than the interior of the body


E.  so the testes can enlarge at sexual maturity

56.
Which of the following hormones directly stimulates the secretion of testosterone?


A.  androgens

         *
B.  LH


C.  HCG


D.  FSH


E.  TSH

57.
Where does the final maturation of sperm occur?


A.  vas deferens

       *
B.  epididymis


C.  prostate


D.  seminal vesicle


E.  bulbourethral gland

58.  
Where do sperm gain the ability to become motile?


A.  vas deferens

       *
B.  epididymis


C.  prostate


D.  seminal vesicle


E.  bulbourethral gland

59.
Where do developing sperm cells undergo meiosis?


A.  in the epididymis


B.  in the vas deferens


C.  in the seminal vesicle

          *
D.  in the wall of the seminiferous tubules


E.  in the seminiferous tubule lumen

60.
What is the function of the sperm acrosome?


A.  it contains the nucleus and enters the egg during fertilization


B.  fuses with the plasma membrane of the egg cell

       *
C.  protection of the nucleus and it contains enzymes that allow penetration through the granulosa 
 
     cells surrounding the ovum


D.  fuel for the sperm


E.  contains sperm helical mitochondrion

61.
An assay of a serum sample from a healthy female with a history of regular 28-day menstrual cycles indicates that, during the last 12 hours, there has been a peak in the serum concentration of estrogen in the absence of any detectable progesterone.  Which of the following will likely occur within 3 days?


A.  cessation of menstruation


B.  decreased basal body temperature


C.  onset of menstruation

      *
D.  ovulation


E.  onset of labor

62.
As its plasma concentrations increases, which of the followings hormones can change from a negative to positive feedback regulation?


A.  GH


B.  FSH

        *
C.  estrogen


D.  progesterone


E.  testosterone

63.
Compared to when she was 25-year-old woman, which of the following would be expected for a 75-year-old woman? 


A.  lower urinary excretion of estrogen, progesterone, and gonadotropins


B.  higher plasma progesterone, but higher plasma estrogen concentrations


C.  lower plasma progesterone, but higher plasma estrogen concentrations


D.  lower plasma gonadotropins, estrogen, and progesterone concentrations

      *
E.  higher plasma gonadotropins, but lower plasma estrogen and progesterone

64.
Which of the following is not a function of progesterone?


A.  increase basal body temperature


B.  synergize with estrogen to inhibit LH secretion


C.  converts the endometrium to secretory state

      *
D.  make cervical mucus thin and watery


E.  decrease myometrial contractility

65.
Variation in the length of a menstrual cycle is determined primarily by variation in which of the following?


A.  luteal phase


B.  time between the mid-cycle FSH surge and ovulation


C.  frequency of intercourse


D.  length of menstruation

      *
E.  length of follicular phase

66.
In the adolescent girl, progesterone in the absence of estrogen will have what effect?


A.  growth and development of the uterus


B.  growth and development of the breasts


C.  closure of the epiphyses of long bones


D.  deposition of subcutaneous fat to hips and thighs

        *
E.  none of the above

67.
Which of the following is true for a healthy 30-year-old woman with a menstrual cycle of 26 days?


A.  injection of estrogen will increase the size of the ovaries

      *
B.  the proliferative phase of the uterus is caused by estrogen derived from the Graafian follicle


C.  menstruation is caused by progesterone from the corpus luteum


D.  estrogen concentration begins to fall prior to ovulation and continues to decrease until 


      menstruation


E.  the highest plasma levels of FSH are associated with the start of menstruation

68.
In the female, where is inhibin produced?


A.  hypothalamus


B.  anterior pituitary


C.  uterus


D.  placenta

         *
E.  corpus luteum

69. 
Which of the following is not a result of estrogen stimulation?

        *
A.  secretion by uterine endometrial glands

  
B.  pituitary hypertrophy


C.  increased contractility of uterine and oviduct muscles


D.  mammary gland growth


E.  proliferation of endometrial cells

70.  
Where in a woman's reproductive tract does fertilization most often take place?


A.  in the ovary

         *
B.  in the lateral third of the oviduct


C.  in the medial third of the oviduct


D.  in the uterus


E.  in the vagina

71.
Which of the following is not a phase of human sexual response?

         *
A.  anticipation


B.  erection


C.  lubrication


D.  emission


E.  ejaculation

72.
What is the range of time for a normal ovarian cycle?

         *
A.  20-45 days


B.  24 - 48 hours


C.  1-2 months


D.  14-28 days


E.   5-7 days

73.
What hormone is measured to confirmed pregnancy?


A.  progesterone


B.  estrogen

        *
C.  HCG


D.  LH


E.  FSH

74.
What hormone stimulates the continued production of progesterone by the corpus luteum?


A.  LH


B.  FSH


C.  estrogen

         *  
D.  HCG

        
E.  inhibin

75.
Ovulation is dependent on a surge from which of the following hormones?

        *
A.  LH


B.  FSH


C.  estrogen


D.  progesterone


E.  inhibin

1.  
Which of the following is the correct order, starting with the most medial?


A.  zona fasciculata, zona reticularis, zona glomerulosa, adrenal medulla


B.  zona glomerulosa, zona fasciculata, zona reticularis, adrenal medulla


C.  adrenal medulla, zona fasciculata, zona reticularis, zona glomerulosa

        *
D.  adrenal medulla, zona reticularis, zona fasciculata, zona glomerulosa


E.  adrenal medulla, zona reticularis, zona glomerulosa, zona fasciculata

2.
Where is cortisol produced primarily?

         *
A.  zona fasciculata

B.  zona reticularis

C.  zona glomerulosa

D.  adrenal medulla

E.  adrenal cortex

3.
What is the principal mineralocorticoid?


A.  cortisol

          *
B.  aldosterone


C.  androgens


D.  ACTH


E.  CRH

4.
What is responsible for the majority of glucocorticoid activity?

          *
A.  cortisol

          
B.  aldosterone


C.  androgens


D.  ACTH


E.  CRH

5.
Which of the following is the cause of adrenal diabetes?

         *
A.  cortisol

          
B.  aldosterone


C.  androgens


D.  ACTH


E.  epinephrine

6.
Which of the following characteristics of cortisol is aided by transcortin?


A.  transport


B.  solubility


C.  size


D.  A & C

        *
E.  all of the above

7.
Which of the following is a function of aldosterone?


A.  reabsorption of sodium


B.  transport of potassium through renal tubule cells


C.  transport of sodium through renal tubule cells


D.  secretion of potassium

        *
E.  all of the above

8.
Which of the following is a stimulus for aldosterone release?


A.  elevated extracellular sodium


B.  decreased extracellular potassium


C.  angiotensin I

         *
D.  ACTH


E.  all  of the above

9.
Prolonged insufficient aldosterone can lead to which of the following?


A.  increased blood volume


B.  increased extracellular sodium

         *
C.  circulatory shock


D.  elevated blood pressure


E.  decreased extracellular sodium

10.
Which of the following is decreased as a result of  increased cortisol?

         *
A.  RNA synthesis


B.  amino acid deamination by the liver


C.  plasma protein synthesis


D.  fatty acid oxidation


E.  truncal obesity

11.
Which of the following is increased as a result of cortisol?


A.  inflammation


B.  capillary permeability


C.  phagocytosis by leukocytes


D.  migration of leukocytes

         *
E.  lysosomal membrane stabilization

12.
Which of the following is a result of excess cortisol?


A.  increased antibodies


B.  increased number of T cells


C.  increased eosinophils

          *
D.  polycythemia


E.  increased inflammation

13.
In a healthy individual,  when does cortisol reach its peak levels?


A.  during REM sleep

         *
B.  around the time of waking up


C.  late evening

D.  mid-afternoon

E.  midnight

14.
Which of the following elevates blood glucose, stimulates the release of insulin, and inhibits inflammation?


A.  glucagon

          *
B.  cortisol


C.  insulin


D.  growth hormone


E.  MSH

15.
Which of the following elevates in response to increased levels of cortisol?

          *
A.  insulin


B.  growth hormone


C.   aldosterone


D.  inflammatory processes


E.  joint pain

16.
Which of the following is measured to confirmed acute inflammation?


A.  cortisol

         *
B.  C-reactive protein


C.  albumin


D.  ACTH


E.  CRH

17.
Which of the following is elevated with prolonged stress?


A.  cortisol


B.  insulin


C.  ACTH


D.  A & C

           *
E.  all of the above

18.
What is the normal inhibitor of the HPA axis?


A.  ACTH


B.  CRH

         *
C.  cortisol


D.  extracellular sodium


E.  aldosterone

19.
Which of the following can be a long-term effect of stress?


A.  heart disease


B.  diabetes


C.  decreased immune function


D.  A & B

          *
E.  all of the above

20.
Cortisol is often used as a drug to treat which of the following conditions?


A.  inflammation


B.  joint pain


C.  autoimmune response


D.  A & B

        *
E.  all of the above

21.
Which of the following is a physiological response to stress?

         *
A.  increased heart rate


B.  decreased blood pressure


C.  decreased respiration rate


D.  decreased extracellular sodium


E.  decreased body temperature

22.
Which of the following is associated with hypoadrenalism?


A.  increased extracellular sodium


B.  decreased extracellular potassium


C.  elevated aldosterone

          *
D.  increased melanin pigmentation


E.  hyperactivity

23.
Which of the following is a behavior response to stress?


A.  temper tantrums


B.  social withdrawal


C.  fighting/social aggressiveness


D.  A & C

          *
E.  all of the above

24.
Which of the following is part of the neuroendocrine response to stress?


A.  sympathetic nervous system


B.  adrenal cortex


C.  adrenal medulla


D.  B & C

          *
E.  all of the above

25.
Which of the following is enhanced by acute stress?


A.  visceral function

          *
B.  arousal


C.  growth


D.  reproductive function


E.  inflammation

26.
Which of the following increase with prolong exposure to stress?


A.  visceral symptoms


B.  mental disorders


C.  infections


D.  dyspnea

         *
E.  all of the above

27.
Which of the following is not a direct part of the HPA axis?

A.  CRH

B.  ACTH

C.  Cortisol

        *
D.  GH


E.  MSH

28.
Which one of the following functions will decrease during an acute stress response?

A.  mental alertness

B.  energy mobilization

       *
C.  growth and reproduction

D.  cardiovascular response

E.  CNS response

29.
Which of the following is inhibited by the HPA axis?

A.  lipolysis

       *
B.  protein synthesis

C.  gluconeogenesis

D.  protein hydrolysis

E.  glucose uptake by the liver

30.
What is a primary stimulator of CRH?


A.  plasma osmolarity

        *
B.  stress


C.  ACTH


D.  aldosterone


E.  cortisol

31.
Which of the following cell types is associated with the production of insulin?


A.  alpha

        *
B.  beta


C.  delta


D.  gamma


E.   omega

32.
Which of the following is associated with the discovery of insulin?


A.  1925


B.  Bunting and Bert

        *
C.  Canada


D.  Sir Alexander Fleming


E.  World War II

33.
Which of the following describes insulin?


A.  large protein


B.  2 amino acid chains


C.  connected with two disulfide bonds

         *
D.  B & C

E.  all of the above

34.
Where are the subunits of the insulin receptors located?


A.  outside of the cell


B.  inside of the cell


C.  on the nucleus

        *
D.  A & B


E.  all of the above

35.
How does insulin assist glucose transport?

         *
A.  causes the cell membrane to become permeable 


B.  binds to glucose and carries it through the membrane


C.  increases ATPase for glucose pumps


D.  A & B


E.  all of the above

36.
Which of the following is stimulated by insulin?


A.  fat storage


B.  conversion of excess glucose into fatty acids


C.  inhibition of gluconeogenesis


D.  A & B

        *
E.  all of the above

37.
Which of the following is the major regulator of insulin secretion?

        *
A.  blood glucose


B.  amino acids


C.  GI hormones


D.  eating carbohydrates


E.  fasting

38.
When are insulin and glucagon both elevated simultaneously?


A.  at rest

         *
B.  during aerobic exercise


C.  during mealtime


D.  after a meal


E.  prior to eating

39.
What is the function of pancreatic somatostatin?


A.  elevates insulin following a meal


B.  depresses the secretion of glucagon


C.  reduces gut motility

       *
D.  B & C


E.  all of the above

40.
Which of the following describes glucagon?


A.  hyperglycemic hormone


B.  opposes insulin


C.  secreted by alpha cells


D.  B & C

        *
E.  all of the above

41.
Which of the following is associated with Type II diabetes?


A.  no insulin production


B.  no pancreatic beta cells

       *
C.  lack of insulin receptor sensitivity


D.  A & C


E.  all of the above

42.
Which of the following is associated with Type II diabetes?


A.  obesity


B.  inactivity


C.  excessive carbohydrate ingestion


D.  A & C

        *
E.  all of the above

43.
What results when insulin is not available for glucose transport?


A.  catabolism of protein


B.  activation of adipose lipase


C.  accumulation of ketone bodies


D.  B & C

        *
E.  all of the above

44.
Which of the following is caused by beta cells inactivity?


A.  pituitary diabetes

          *
B.  diabetes mellitus Type I


C.  diabetes mellitus Type II


D.  adrenal diabetes


E.  gestational diabetes

45.
Which of the following is true concerning the pancreatic hormone secretion?


A.  insulin is secreted from alpha cells in response to elevated blood glucose

        *
B.  glucagon is secreted from alpha cells in response to decreased blood glucose


C.  delta cells secrete insulin in response to elevated blood amino acid concentrations


D.  elevated blood glucose stimulated glucagon secretion from the alpha cells


E.  beta cells secrete somatostatin

46.
Which of the following is true of glucagon?


A.  synthesized by beta cells

          *
B.  stimulates glycogenolysis


C.  converted into insulin by proinsulin

D.  stimulates glycogenesis

E.  is a hypoglycemic hormone

47.
Where does spermatogenesis occur?


A.  interstitium of testes

       *
B.  seminiferous tubules


C.  vas deferens


D.  A & B


E.  all of the above

48.
When does spermatogenesis begin?


A.  at birth


B.  in infancy

         *
C.  at puberty


D.  during adolescence


E.  at first intercourse

49.
Which of the following is true of spermatogonia?


A.  located outside of the seminiferous tubule 


B.  proliferate sporadically

         *
C.  migrate centrally toward the Sertoli cells


D.  are stimulated by Mumps and radiation


E.  lie in a highly vascular tissue

50.
Which of the following is produced by the Leydig cells?


A.  LH


B.  FSH


C.  inhibin

         *
D.  testosterone


E.  estrogen

51.
Where is most seminal fluid produced?


A.  prostate gland

      
B.  vas deferens


C.  testis


D.  bulbourethral glands

      *   
E.  seminal vesicles

52.
Which stage of the male sexual act is primarily sympathetically stimulated?

A.  excitation

          *
B.  ejaculation

C.  erection

D.  lubrication

E.  stimulation

53.
Which of the following hormones is secreted by the Sertoli cells?


A.  testosterone


B.  LH


C.  FSH

        *
D.  inhibin


E.  growth hormone

54.
Which of the following is produced by the sustentacular cells?


A.  inhibin


B.  testosterone


C.  estrogen

       *
D.  A & C


E.  all of the above

55.
What is the correct order for the stages of spermatogenesis?


A.  spermatogonium, spermatid, primary spermatocyte, secondary spermatocyte, 

      

                     spermatozoon


B. spermatozoon, spermatogonium, spermatid, primary spermatocyte, secondary 
 
     

                   spermatocyte

 
C. spermatogonium, secondary spermatocyte, primary spermatocyte, 
       

     

                   spermatozoon, spermatid 

         *
D. spermatogonium, primary spermatocyte, secondary spermatocyte, 

 
     


     spermatid, spermatozoon


E. spermatogonium, primary spermatocyte, secondary spermatocyte, 

                          
    

                   spermatozoon, spermatid

56.
The formation of a sperm takes approximately what length of time?


A.  24 hours


B.  3 days


C.  1 week

       *
D.  2.5 months


E.  4 weeks

57.
Which of the following sperm counts is the lowest number associated with fertility?


A.  600
 million/ml


B.  100 million/ml

         *
C.  20 million/ml


D.  10 million/ml


E.  1 million/ml

58.
Which of the following can cause cryptorchidism?


A.  lack of testosterone


B.  strictures


C.  excessive temperature

        *
D.  A & B


E.  all of the above

59.
Which of the following is primarily under parasympathetic control?


A.  penile erection


B.  urethral lubrication


C.  ejaculation

        *
D.  A & B


E.  all of the above

60.
In which of the following does the contraction of the vas deferens begin?


A.  erection


B.  lubrication

        *
C.  emission


D.  ejaculation


E.  psychic stimulation

61.
In the non-pregnant female, where is inhibin produced?


A.  hypothalamus


B.  anterior pituitary


C.  uterus


D.  placenta

        * 
E.  corpus luteum

62.
Which of the following does not immediately precede ovulation?


A.  rapid growth of the follicle


B.  diminishing estrogen secretion


C.  beginning of progesterone secretion


D.  preovulatory surge of LH

          *
E.  sloughing off of endometrium lining

63.
What are the cells called that previously surrounded the ovum, that remain in the ovary after ovulation?


A.  endometrium

         * 
B.  corpus luteum


C.  granulosa cells


D.  theca cells


E.  cumulus oophorus

64.
Which of the following does not secrete estrogen?


A.  ovary


B.  adrenal cortex

        * 
C.  anterior pituitary


D.  placenta


E.  theca interna

65.
What hormone is primarily responsible for the stromal cell development of female 
reproductive organs?


A.  testosterone

         *
B.  estrogen


C.  progesterone


D.  LH


E.  FSH

66.
What hormone is primarily responsible for the secretory activity of the female reproductive organs?


A.  testosterone


B.  estrogen

         *
C.  progesterone


D.  LH


E.  FSH 

67.
Which of the following is the correct order for the female reproductive cycle?


A.  ovulation, follicular phase, luteal phase, menses


B.  luteal phase, ovulation, follicular phase, menses


C.  follicular phase, luteal phase, ovulation


D.  menses, luteal phase, ovulation, follicular phase

        *
E.  follicular phase, ovulation, luteal phase, menses

68.
What is the most common cause of female infertility?


A.  lack of libido


B.  underdevelopment of sexual organs


C.  inability of ovum implantation

        *
D.  lack of ovulation


E.  elevated progesterone levels

69.
In the non-pregnant female, what is associated with high levels of estrogen?


A.  decreased GnRH


B.  elevated progesterone


C.  decreased FSH

         *
D.  increased LH


E.  HCG

70.
What is the main event of the follicular phase?


A.  formation of sperm


B.  formation of breast buds

       *
C.  maturation of the ova


D.  secretions in the endometrium


E.  sloughing of the endometrium

71.
Which of the following occurs at ovulation?

      *
A.  expulsion of the ova out of the ovary


B.  increased LH


C.  increased FSH


D.  elevated progesterone


E.  atresia of the corpus luteum

72.
What hormone is primarily responsible for the proliferative phase?


A.  progesterone

        *
B.  estrogen


C.   FSH


D.  LH


E.  inhibin

73.
The major activity of which structure occurs during the luteal phase?


A.  ovary


B.  endometrium


C.  anterior pituitary


D.  hypothalamus

         *
E.  corpus luteum

74.
What hormone is measured to confirm pregnancy?


A.  estrogen


B.  progesterone


C.  FSH


D.  LH

        *
E.  HCG

75. 
Which hormone is considered the pregnancy hormone?


A.  estrogen

      *
B.  progesterone


C.  FSH


D.  LH


E.  HCG

1.
Which of the following is true for cortisol?


A.  it is formed from peptides

B.  is the major mineralocorticoid

        *
C.  it has glucocorticoid activity

      
D.  all of the above

         
E.  none of the above

2.
Which of the following has the greatest affect on mineralcorticoid activity in the body?


A.  insulin


B.  glucagon

      
C.  cortisol

          *
D.  aldosterone


E.  testosterone

3.
Which of the following is the major regulator of the rate of aldosterone secretion?


A.  renin

B.  angiotensin I
     
C.  cortisol

          *
D.  plasma sodium concentration

E.  ionized calcium
4.
If both adrenal glands of a person are severely damaged by disease, which of the following hormones will increase in the blood?


A.  aldosterone

        
B.  cortisol

C.  corticosterone

        *
D.  CRH

E.  all of the above

5.
Which of the following is a result of excessive aldosterone secretion?


A.  Na excretion
          *
B.  K excretion


C.  hypotension
      
D.  reduction of adrenal androgens


E.  weight loss
6.
Problems concentrating, overeating, smoking, and disorganization would be considered what type of  response to stress? 

A.  emotional 

          *
B.  behavioral 

C.  physiological 

D.  social

E.  personal

7. 
What is the primary physiological stimulator of ACTH?


A.  plasma osmolarity

        
B.  low cortisol

          *
C.  CRH

D.  aldosterone


E.  MSH

8. 
During the fasting state, which one of the following is an action of cortisol to promote hepatic gluconeogenesis?

         *
A.  increase breakdown of muscle protein


B.  decreased release of glycerol from adipose tissue


C.  suppression of gluconeogenic enzymes in other tissues


D.  increase hepatic production of beta-hydroxybutyrate


E.  decrease hepatic production of beta-hydroxybutyrate

9.
Which of the following is NOT linked to an increase in cortisol release?


A.  increase in sensitivity to norepinephrine in the vascular smooth muscle


B.  increase in aldosterone secretion

    *
C.  an increase in vascular permeability


D.  truncal obesity


E.  decreased immune activity

10. 
What part of the adrenal gland produces the majority of the mineralcorticoids?

A.  medulla

       *
B.  zona glomerulosa

      
C.  zona fasciculata

         
D.  zona reticularis

E.  zona interna

11. 
Which of the following is a primary site for steroid degradation?


A.  GI tract

       
B.  lungs
         *
C.  kidney


D.  pancreas


E.  muscle tissue

12.
What is the major function of aldosterone?


A.  water balance

       *
B.  sodium reabsorption

C.  blood pressure control

        
D.  reabsorption of K+


E.  urine production

13.
Which of the following is associated with increased cortisol activity?


A.  decreased gluconeogenesis


B.  increased glucose utilization


C.  increased protein synthesis

        *
D.  elevated plasma insulin
       
E.  decreased plasma proteins

14.
Cortisol stimulates which of the following to cause prevention of inflammation?

          *
A.  stabilization of the lysosomal membranes

          
B.  increased capillary permeability


C.  increased WBC migration and phagocytosis


D.  elevated lymphocyte production


E.  elevation of fever
15.
Which of the following is true for the endocrine component of a stress response?

 
A.  effective only in the acute phase

            
B.  activated by aldosterone

          *
C.  involves the HPA axis

           
D.  includes the mass sympathetic response


E.  involves the adrenal medulla

16.
Which of the following is not a direct part of the HPA axis?

   *
A.  androgens
            
B.  CRH

            
C.  ACTH

            
D.  cortisol


E.  adrenal cortex
17.
Which of the following is NOT a part of the neuroendocrine response to stress?

        * 
A.  parasympathetics

B.  sympathetics

C.  adrenal cortex

D.  adrenal medulla


E.  cortisol
18.
Which of the following is a constructive method for addressing stress?

       *
A.  exercise


B.  verbal assaults


C.  suppressing anger and frustration


D.  living in  fear


E.  withdrawal from society 

19.
Which of the following is true for “The Mass Sympathetic Response?” 

       *
A.  a neural acute stress response

B.  an endocrine acute stress response

C. designed to be a chronic stress response
D.  involves both neuro and endocrine systems

E.  initiated by the adrenal cortex
20
Which one of the following functions will decrease during an aucte stress response?

A.  mental alertness

B.  energy mobilization

       *
C.  male sexual performance
D.  cardiovascular response

E.  heart rate

21.
Which of the following is inhibited by increased activity of the HPA axis?

A.  lipolysis

       *
B.  protein synthesis

C.  gluconeogenesis

D.  protein hydrolysis


E.  infertility

22.
What effect does the HPA axis have on the inflammatory response and the immune response?

A.  increases the responses

       *
B.  decreases the responses

C.  has no effect on the inflammatory and immune response
D.  it enhances the production of leukocytes and capillary permeability

E.  inflammatory response is decreased but immune response is enhanced
23.
Which of the following is not a result of chronic stress syndrome?

A.  osteoporosis

       *
B.  increase in lean body mass

C.  decrease in wound healing

D.  thin fragile skin and thin fragile capillaries
E.  poor posture
24.
Which of the following would NOT be selected to help a person overcome the conditions associated with chronic stress?

A.  modify the stress

B.  develop a social support system

       *
C.  use steroid therapy

D.  use exercise and relaxation techniques


E.  massage therapy

25.
Which of the following is not a physical manifestation of stress?


A.  sweaty palms


B.  muscle tightness

      *
C.  slow heart rate


D.  persistent fatigue


E.  clenched jaw

26.
Which of the following behaviors is not associated with stress?


A.  frequent urination


B.  forgetfulness


C.  problems concentrating


D.  daydreaming

      *
E.  social drinking (not to excess)

27.
Chronic stress may be defined as a chronic activation of which of the following?


A.  parasympathetic nervous system

       *
B.  sympathetic nervous system


C.  central nervous system


D.  enteric nervous system


E.  all anterior pituitary hormones

28.
Which of the following physiological parameters does not increase with the fear or flight response?


A.  MAP


B.  blood flow to muscles


C.  glycolysis

       *
D.  glucagon


E.  muscle strength

29.
Which of the following is not a method for controlling the affects of stress?


A.  education about stress


B.  acknowledge your feelings


C.  find constructive ways to release pent up feelings

       *
D.  malicious behavior

E.  learn to laugh at yourself

30.
Which of the following elevates blood glucose, stimulates mitosis and differentiation, and enhances gluconeogenesis?


A.  glucose


B.  insulin


C.  glucagon

           
D.  cortisol

           *
E.  GH

31.
Which of the following elevates blood glucose, enhances gluconeogenesis, and is inhibited by 
somatostatin?


A.  GH


B.  insulin

           *
C.  glucagon


D.  cortisol


E.  estrogen

32.
Which of the following is stimulated by elevated blood glucose, decreases blood glucose, promotes fat storage, enhances cellular metabolic activity, and enhances cellular permeability of amino acids?


A.  glucose

           *
B.  insulin


C.  glucagon


D.  cortisol

        
E.  GH

33.
Which of the following is enhanced by insulin stimulation?

         
A. lipolysis

B.  glucose is made available for nervous tissue 


C.  RBC's utilize glucose more effectively

        *
D.  decreased blood glucose levels

E.  glucagon levels are reduced

34.
Which of the following is true of insulin?


A.  enhances liver phosphorylase


B.  promotes glycogen breakdown

        
C.  enhances lipolysis

D.  decreases activity of glucokinase

        *
E.  enhances enzymes of glycogen synthesis

35.
Which of the following is produced by the pancreatic alpha cells?

        *
A.  glucagon

B.  cortisol


C.  insulin
          
D.  somatostatin


E.  elevated blood glucose levels

36.
Which of the following cells of the pancreas secretes insulin?


A.  alpha cells

       *
B.  beta cells


C.  gamma cells


D.  delta cells


E.  acini cells

37.
How many subunits are in an insulin receptor?


A.  2


B.  2 alpha


C.  2 beta

          *
D.  4


E.  6

38.
Which of the following is the greater stimulus for insulin release?


A.  exercise


B.  low blood glucose levels

       *
C.  ingestion of carbohydrates


D.  rest


E.  stress

39.  
Which of the following is the most important regulator of insulin and glucagon?

A.  type of food ingested

B.  exercise

         *
C.  blood glucose levels

D.  fatty acids


E.  neuron stimulation

40.  
Which of the following is inhibited by glucagon?

A.  glycogenolysis

B.  gluconeogenesis

C.  bile secretion

       *  
D.  triglyceride storage

E.  myocardial strength

41.  
Which of the following is true of somatostatin?

A.  produced by gamma cells

        
B.  inhibited by food ingestion


C.  enhances secretion of insulin

          *   D.  suppresses secretion of glucagon

E.  increases GI tract absorption

42.
A increase in the level of blood glucose is the major stimulus for release of which of the following hormones?

        *
A.  insulin

B.  somatostatin

        
C.  glucagon

D.  cortisol

E.  testosterone

43.   
Which of the following is not true regarding glucagon?

         
A.  increases cellular lipolipase

B.  decreases fatty acid synthesis

C.  increases plasma fatty acid concentration

D.  stimulates ketogenesis

*
E.  increases fat storage

44.  
Which of the following will decrease with insulin release?

     *    
A.  blood glucose

B.  fatty acid synthesis

C.  fat storage

D.  liver uptake of glucose

E.  glucose utilization
45.   
Which of the following is (are) true regarding insulin?

         *
A.  small protein

B.  degraded by the pancreas
C.  binds with nuclear receptors
         
D.  2 amino acid chains connected by trisulfide bonds

E.  all of the above are true
46.
Where do sperm gain the ability to become motile?


A.  seminiferous tubules

         *
B.  epididymis


C.  vas deferens


D.  ampulla


E.  prostate

47.
Where is the majority of seminal fluid formed?


A.  testes


B.  epididymis

        *
C.  seminal vesicles


D.  prostate gland


E.  rete testes

48. 
In which of the following does spermatogenesis occur?

A.  vas deferens

B.  ampulla of vas deferens

C.  seminal vesicle

D.  ejaculatory duct

        *
E.  seminiferous tubules

49.
Which of the following is the correct order of spermatogenesis?

         *
A.  spermatogonium, primary spermatocyte, secondary spermatocyte, spermatid, spermatozoon

B.  spermatogonium, spermatozoon, primary spermatocyte, secondary spermatocyte, spermatid

C.  sperm, primary spermatocyte, secondary spermatocyte, spermatozoon, spermatogonium

D.  primary spermatocyte, secondary spermatocyte, spermatogonium, spermatid, spermatozoon

E.  spermatogonium, secondary spermatocyte, primary spermatocyte, spermatid, spermatozoon

50.
Which of the following hormones is secreted by the Leydig cells?

         *
A.  testosterone

B.  LH

C.  FSH

D.  inhibin

E.  estrogen

51.
Which of the following hormones is secreted by the Sertoli cells?

A.  testosterone

B.  LH

C.  FSH

       *
D.  estrogen
E.  growth hormone

52.
Which of the following hormones directly stimulate Sertoli cells?

A.  gonadotropins

B.  leutinizing hormone
        *  
C.  follicle stimulating hormone
D.  inhibin


E.  progesterone

53.
Which of the following hormones directly stimulate the production of testosterone?

A.  testosterone

       *   
B.  LH

C.  FSH

D.  inhibin

E.  estrogen
54.
Which of the following is a gonadotropic hormone?

A.  testosterone

B.  dihydrotestosterone

       *
C.  FSH

D.  inhibin

E.  Estrogen

55.
In what part of the sperm would proteolytic enzymes play a role in helping the sperm penetrate the ovum?

A.  tail

B.  head

C.  mid-piece

D.  flagellum

          *
E.  acrosome

56.
Which stage of the male sexual act is primarily sympathetically stimulated?

A.  excitation

          *
B.  emission
C.  erection

D.  lubrication

E.  stimulation

57.
Which of the following would be indicative of a normal sperm count?

A.  35-100 thousand/ml

B.  200 thousand/ million

C.  less than 20 million/ml

         *
D.  35-200 million/ml
58.
The major activity of which structure occurs during the luteal phase?


A.  ovary


B.  endometrium


C.  anterior pituitary


D.  hypothalamus

         *
E.  corpus luteum

59.
What hormone is at its highest peak during the middle of the luteal phase?


A.  estrogen

        *
B.  progesterone


C.  FSH

         
D.  inhibin


E.  LH

60.
What hormone stimulates the production of progesterone and keeps the corpus luteum viable?


A.  estrogen


B.  progesterone


C.  FSH

         *
D.  HCG


E.  LH

61.
What hormone is measured to confirm pregnancy?


A.  estrogen


B.  progesterone


C.  FSH

         *
D.  HCG


E.  LH

62.
In the non-pregnant female, where is inhibin produced?


A.  hypothalamus


B.  anterior pituitary


C.  uterus


D.  placenta

        * 
E.  corpus luteum

63.
Which of the following does not immediately precede ovulation?


A.  rapid growth of the follicle


B.  diminishing estrogen secretion


C.  beginning of progesterone secretion


D.  preovulatory surge of LH

          *
E.  sloughing off of endometrium lining

64.
What are the cells called that previously surrounded the ovum, that remain in the ovary after ovulation?


A.  endometrium

         * 
B.  corpus luteum


C.  granulosa cells


D.  theca cells


E.  cumulus oophorus

65.
Which of the following does not secrete estrogen?


A.  ovary


B.  adrenal cortex

        * 
C.  anterior pituitary


D.  placenta


E.  theca interna

66.
What hormone is primarily responsible for the stromal cell development of female 
reproductive organs?


A.  testosterone

         *
B.  estrogen


C.  progesterone


D.  LH


E.  FSH
67.
What hormone is primarily responsible for the secretory activity of the female reproductive organs?


A.  testosterone


B.  estrogen

         *
C.  progesterone


D.  LH


E.  FSH 

68.
Which of the following is the correct order for the female reproductive cycle?


A.  ovulation, follicular phase, luteal phase, menses


B.  luteal phase, ovulation, follicular phase, menses


C.  follicular phase, luteal phase, ovulation


D.  menses, luteal phase, ovulation, follicular phase

        *
E.  follicular phase, ovulation, luteal phase, menses

69.
What is the most common cause of female infertility?


A.  lack of libido


B.  underdevelopment of sexual organs


C.  inability of ovum implantation

        *
D.  lack of ovulation


E.  elevated progesterone levels

70.
In the adult female, where is the majority of testosterone produced?


A.  adrenal cortex

        *
B.  ovary


C.  anterior pituitary 


D.  posterior pituitary


E.  Testosterone is the male reproductive hormone.  It is not produced in the female.

71.
What might be a concern for the Chiropractor whose 60 year-old female patient had a radical hysterectomy 30 years ago and has not received estrogen therapy?


A.  hair loss

      *
B.  osteoporosis


C.  lack of body mass


D.  increased body fat


E.  lack of libido

72.
In the non pregnant female, what is associated with high levels of estrogen?


A.  decreased GnRH


B.  elevated progesterone


C.  decreased FSH

         *
D.  increased LH


E.  HCG

73.
What is main event of the follicular phase?


A.  formation of sperm


B.  formation of breast buds

       *
C.  maturation of the ova


D.  secretions in the endometrium


E.  sloughing of the endometrium

74.
Which of the following occurs at ovulation?

      *
A.  expulsion of the ova out of the ovary


B.  increased LH


C.  increased FSH


D.  elevated progesterone


E.  atresia of the corpus luteum

75.
What hormone is primarily responsible for the proliferative phase?


A.  progesterone

        *
B.  estrogen


C.   FSH


D.  LH


E.  inhibin
